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AB-235273

M.Com. (Semester-II) Examination, June-2025
( Backlog )
BUSINESS ECONOMICS
Time Allowed : Three Hours
Maximum Marks : 70

Note : This question paper is divided into four sections. Attempt
questions of all four sections as per direction.

Distribution of marks is given in each section.
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SECTION-A | @Ug-H

( Objective Type Questions )

( Fgfre uet )

Note : Attempt any ten questions. Each question carries 1 mark.
[10%1=10]
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(A)
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Fill in the blanks :

R e ) o AN

(i)

(ii)

(iii)

(iv)

(v)

Law of diminishing returns of factors is relevent

to period.

T s 3 P e SRRk AT X
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Penetration pricing refers to price.

Secular period is know as period.
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(B) Choose the correct alternative (any five) :

wé R @1 = b (FF 9)

(vij  High inflation levels in the economy leads to

in the supply of money.

(@ Increase
(b)  Decrease
()  Nochange
(d)  None of the above
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(i)

(viii)

Infiation is measured by

{a) Consumer price index
(®) Whole sale price index
{c) Marshali's index

{d) None of the above
TSR TG TR e !

(z) T T TEEE 2
(6) Z% 79 gEm BN
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Which of the following market have the fewest
number of form ?

)  Oligopoly
(b)  Perfect competition
(c) Monopolistice competition

(d)  Allof the above
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(ix)
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(a) FEmEHT
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(d) SHUET
In marginal costing technique. fixed cost is also

referredto as

(a) Total Cost
(b) Product Cest
(c)  Pericd Cost

(d) Ncne cof the above
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(x) - Marginal cost refers to X ' :
THHT & S| :

(a) Total cost g
| (a) T T
(b) Variable cost |
| (b) B Feea B TR
(c)  Fixed cost S -
| (c) g |t

d) SHE F F BE T

(d  None of the above

i T 3 W ------ - | - SECTION-B / @984

@ Fd W - ( Very Short Answer Type Questions )

(b) IR - | ( oy vy o9 5 )

() W& A ' Note: Attempt any five questions. Each question carries 2

marks.‘(Word limit : 25-30 words) : [5x2=10]

£ Rt S et B IR AR S S 2 3
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(d) FH q B T

(xi)  Monopoly refers to

(@)  Single Seller "
2. () What do you mean by Marginal Cost?

(b)  Group of Some Seller ' . T 37
A S ¥ S -

(c)  Money Seller
(i) What is Total Cost?

(d)  None of the above ' ' .
- e @ e

@
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(i)  Whatis Oligopoly? (i) Describe the characteristics of 'Law of variable

SRR = &7 proportions.
(iv)  What is price discrimination? : R aqma &1 e @ Rl &
‘ : ' o iR
™ e T @

(i) . Describe the characteristics of monopolistics
v) What is Transfer Pricing?

competition.
T A A o AT 1 P 1 e AP
(v Whatis dumping? (v)  Distinguish between perfect competition and
T | 87 monopolistics competition.
SECTION-C / Gvs-H | qof SR AR SR TR o
( Short Answer Type Questioné ) @ R ‘ <
( g L B 4l ) y | v) Distinguish between price discrimination and =
‘ E ‘ dumping.
Note: Attempt any five questions. Each question carries 4
t m:rksr.)(Wo::i fimit ?250 wo:ds) A [5x4=|Zo] : ™ e IR = 3 99 W ' il
Bt g o 3 SuX AR TR 9 4 ot 7 : (\}i) " \What is innovation theory of business cycle?
(g d < 250 9) | R T S e R e
3. () What is Economic value analysis? " (viiy ~ Whatis demand-pull inflation?
il e fs = ¥ | R HiT-qe A 8
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SECTION-D / §Us-§

(i) Explain firm's equilibrium for monopolistics
( Long Answer Type Questions )

competitive market.
(& sl we) T SR e o 3 e v
Note: Attempt all three questions. Each question carries 10 | ' OR / &#gdr
marks.(V}Iord limit =500 vord s) [3”19=3O] How is Price determined under Monopoly? Is
» . monopoly price is always higher than competitive
Tl A o 3 S AT SR S9H 10 ofR @ B S
price? Give reasons.
(sr= € : 500 91)
R § Fma PERT 3§ 8 87
4. (i) State the 'Law of return to scale' with the aid of a . - > TRE e I o
suitable diagram. e, l
G‘Q’QER{ @ B e 8 W H S B (i)  Explain profit theory of Business Cycle.
# ! | R 9F 3 AW T B R
OR / &84T | ' OR / gl
State the three stages of the law of variable ‘! Explain Samuelson theory of Business Cycle.
proportion with the aid of a suitable diagram. o !
R | YR 6 B TG RS
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